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1a. Use the place value counters fo add
the numbers below.

1b. Use the place value counters fo add
the numbers below.
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2a.Trve or false?
10,0005 1.000s 1005 105 15

2b.True orfalse?
100005 10005 1005 105 1

00 00000 00 000 ©0 o 00000 00
0o oo 000 00

.0 , 00 0000000 000
0000 00 o o500

N e s e

P T S R

3a. Complete the bar models below.

3b. Complefe the bar models below.

A ? A ?
7,363 4434 9,644 3,352
B. 6,136 5722 B. 41 8,368
% ? Ll ?

4a. Solve the addifion calculations below.
100008 1.000s 1005 105 1

4b. Solve the addifion calculations below.
10000 10005 1005 108 1

0 00 00 O o o bl 00 © 9] 00 O
o o o o o o
+*00 © oo o oo +00 00 O =]
[e] o 00 00 O
100008 10005 1008 10000 10005 100 105 15

m oo 0o o M 00 0000 0 00
o o o 00 O o
*00 00 O +00 00 O o oo

0 00 Q00 0 00

e





image2.png
Add More Than 4-Digits

Add More Than 4-Digits

1a. Gary and Jay are comparing their
income.

1b. Jody and Lynette are comparing their
income.

Earmings sonus Eomings | Bonus
Gary a4y | saes Jody 16381 1453
Jay si288 | 51387 netle | £1532 | 2445

L comt more because alogethert [ only ecmt £31ess pounds han you

- eamt above £20.000. alfogether.

Gary Jody

(" I must have had a larger income
because my eamings were higher
han yours.

You must have eart more money
than me because your eamings
were almost£1,000 more.

=

Jay
Who s comect? Explain why.

Lynette
Who is correct? Explain why.

2a. Add the missing place value counters
fo make this addifion corect.

10008

1008

108

2b. Add the missing place value counters
fo make this addifion correct.

10,000 1,000

1005

108

3. Steph completes this sum incomectly.

3b. Phil completes this sum incomectly.

Explainthe mistake she has made.

w

1.8 4 9 1 2 2 2 9 ¢
+ 1 3 7 2 4 + 2 7 3 8 7

3 1 2 1 5 4 9 7 8 3

[ 21

Explain the mistake he hasmade.

W
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10.26,472 + 12.484 = 38,956 1b.31,738 + 24381 = 56,119
2a.Tve 2b. False as 21,522 + 34,613 = 56,135.

3a.A=11,797 B=11,858 3b.A=12,996 B=12479
4a.1) 64,435 1i) 78,355 ab.1) 55,473 1i) 48,437
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1a. Gary is correct because his fofal 1b. Jody is comect because her fofal
income was £21,275 which is greater than  income was £17,834 which is £3 less than
£20,000. Jay's income was £19,670. Lynetie's income of £17,837.

2a. Various answers, for example: 2b. Various answers, for example:









